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1(a) Explain why, if the set S = {v1,v3,V3,V4} is linearly independent, then so is the set {vq,va,Va}.
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1(b) True or false (please circle one for each item):
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2. Let V be the vector space Ps and let W be the set of all polynomials of the form p(t) = at® + bt + c.
Show that W is a subspace of V.
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3(a) Compute the product of the following elementary matrices:

1 0 01 0 Ot -1 0|1 O O
01 010 0 110 1 0O (0 1 4
2 0 110 1 0)10 0 1[0 0 1
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(b) Let A be the matrix you just found. Give the sequence of row operations needed to convert I3 into A.

(c) Give the sequence of column operations needed to convert I3 into A.
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4. Find the inverse of the matrix

or determine that it has no inverse.
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(a) Show that S is linearly dependent.
(b) Write one of the vectors in S as a linear combination of the other two.

(c) Name two vectors in S which span the same subspace of R? as S, and say briefly why this is true.
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